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�
�� ��%���� �!���%��������� 8���9� ��!+�$� ���� ���%� ��+�!�&��� ��� �%�!�1�� ��$��*����%���%�!�

��$� ��$��� )���� &��1��!� �$� � ����$��!�2� ��(��� �%�� �)�%��� %���� �$� :� �!���%��,�  �&��!�� �"�

����!���%(� !�%��$� �!���� � �%�� !�%��$� &��1��!� �$� � ��$� ��$��,� �$�� ��$�+��2� ����  �%�������+��

�'�����%�� �$�� &$���%���� �%� ����� ������2� �� !�%��$� ����$��!� ���$�6� ��� ��$�+��� "$��� ����

���$����%��� �&$�% �&!����%���+�!������"�$����*;�2� �	�$�����!�������������� � �%�����%��

�%��������"�$�����%��"�������$� ��$���  �$��������������""� ������������!� �$� �"��!�������+�$�����

���&!� ���%��"��!��������%���"�����&�!�$�1����%��"���������$��!2������������� �% �%�$������%�����

&�$"�$��% ���"�� �������"���$� ��&�������8���92�����������!+�$��!���&�$������%�!������"�����

��%��%(� �� ��%����� ��&� �!!�� ����� �%� &��1��!� �$� � ��$� ��$��2� ���� ����� �����%��� "$��� ����

����!��!!�)��������&����1������&!� ���%���"�&��1��!� �$� �&�� �����%�%�%*����!!� ����$� ��2�

��$��%,���$���,��!� �$� ��%�����&!� ���%��"��!���$��&$���%�����%�� ��&�$�������%�!��� �!�$���!���

�%�� �6&�$���%��!� ����2� ���� ���� �"� ����� ���� ��!+�$� �!!�)�� "�$� ���� �%��$���%��%(� �"� ����

����+��$��"�&��1��!� �$� �����$��!���%��� �������"���$� ��&�������8���9��%������$��&&!� ����%�2�
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"�$�����$��!������%(��%�������$ ��8����9��!!�)�%(������� ��&�$����$�"�%�����!���%���%�!�����

$���!�������6&�$���%��!�+�!���2���)��!���!���!�:��������%:���$:���!%�:�)� 1,�"�$����$�%(�����
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%���)������� "���!�2������������$�)���  �%���%�!��:��&����� �%� ��$� &$���$�� �%��)���:�&��

$���%��%(� ��� �����:%�)!��(��  ����� "$���#��� )��� &$�+����� ��� ��� ��,� "�$� ���� ��$+� �� �"�

����%���2���)��!��!�:��������%:��!!��"����"���!��)����% ��$�(����%����&&�$���������$��(��

�����)�$:,����)�� �������+�$�����%:"�!2�



�

�+�
�

��5���	���	�������

����$� �22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222��� 

� :%�)!��(��%��22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222�+ 

���!���"���%��%��2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222+ 

������"�"�(�$��22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222�6 

������"����!��22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 6�+ 

��$�+�����%�2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 6+� 

������"������!�222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 6+��� 

=2.��%�$��� ���% 2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222= 

=2=�����$��!�&$�&�$������"����1��!� �$� �>���$$��!� �$� �����$��!� 22222222222222222222222222222222222222222222222222 =/ 

=2-�� ����������&������ 222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 -= 

=2-2=�����)���� ��&������"���$�2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 -/ 

=2?����%���&����"����1��!� �$� �� �����$�22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 -@ 

=2?2=���� :�� �����$� 222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 ?= 

=2?2-�����%�$�� �����$222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 ?- 

=2?2?�����$�� �����$22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 ?? 

=2?2A�5���$&��� �����$ 2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 ?? 

=2?2;�5��!��%(�5!� :�� �����$� 2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 ?A 

=2?2/���+�$��$��� �����$� 22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 ?; 

=2?2B����$��!� ���&!�"� ����%�� �����$2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 ?/ 

=2?2C��!�6��%���%�!�� �����$� 2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 ?B 

=2?2@��$�'��% ����+�$�(���� �����$� 2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 ?B 
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=2A������$�2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 ?C 

=2;���"�$�% ���"�$����&��$�=222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 A. 

-2.��%�$��� ���% 2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 A/ 

-2=����$����%��� ���%�� �%�������+��$�!����%���&���"�&��1��!� �$� �����$��!�2222222222222222222222222222 A/ 

-2-����:���$��!����%��"������!� �$�*�� ��%� �!��'�����%� 222222222222222222222222222222222222222222222222222222222 ;@ 

-2-2=��� ��%� �!��'��!��$�����'�����%22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 ;@ 

-2-2-��!� �$� ��'��!��$�����'�����% 222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 /. 

-2-2?��!� �$��� ��%� �!���%�������+���'�����% 22222222222222222222222222222222222222222222222222222222222222222222222222 /. 

-2-2A����:�"�$��!����%��"������!���� ��� ��%� �!��'��!��$�����'�����% 22222222222222222222222222222222 /= 

-2-2;����:�"�$��!����%��"������!� �$� �!��'��!��$�����'�����%2222222222222222222222222222222222222222222222222 /- 

-2?�����!����:�"�$��!����%22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 /? 

-2A���"�$�% ���"�$����&��$�-222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 /B 

?2.��%�$��� ���% 2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 /C 

?2=��!���%�����""%�������$�6 222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 /@ 

?2=2=�����4� ����%����$�62222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 C. 

?2=2-����$�+���������""%�������$�6 2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 C? 

?2=2?�
%�"����5*���$�6�
�"�%����%22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 C? 

?2-��%��($����%�� ����2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 CA 

?2?�������!���$� ���$�22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 CC 

?2A��&&!� ����%��"�5��%��$����%�����%� 222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 @- 

?2;���!+�%(22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 @/ 

?2;2=�#������%��!���%����%�)������ :������������%222222222222222222222222222222222222222222222222222222222222222222222 @C 

?2;2-�#�����4�$��%��!���%����%2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 @@ 



�

�+���
�

?2;2?��&�$�����%��$��������22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =.= 

?2;2?2=��&�$������$�6�����$���!!� ����%22222222222222222222222222222222222222222222222222222222222222222222222222222 =.? 

?2;2?2-���%D�(����#$����%���������"�$��&�$���������2222222222222222222222222222222222222222222222222222 =.A 

?2/�����*�$� ����%(22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =.; 

?2/2=���$��%�"��!� 2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =./ 

?2/2-���$����"��!� 2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =.B 

?2B������$�22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =.C 

?2C���"�$�% ���"�$����&��$�?2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =.C 

A2.��%�$��� ���% 22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 ==. 

A2=���� ������222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 === 

A2-���$��(��� �%��!�+�$����������2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 ==; 

A2?��!�������������222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 ==C 

A2A������$���"�$���!���"�$��!���� �&$��!��� 2222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =-- 

A2;�E�!������%��"�&��1��!� �$� ��!���%��222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =-? 

A2;2=����1��!� �$� ��6��%���%�����22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =-A 

A2;2-����1��!� �$� �����$����� 222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =-; 

A2;2?����1��!� �$� �5���$&�� �����222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =-/ 

A2;2A����1��!� �$� ���%��%(�&$��!�� 222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =?. 

A2;2;������$���"�$���!���"�$�&��1��!� �$� �&$��!��� 222222222222222222222222222222222222222222222222222222222222222 =?- 

A2/���"�$�% ���"�$����&��$�A2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =?? 

;2.��%�$��� ���% 22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =?A 

;2=���������!���"������������ 2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =?@ 

;2=2=�
% �%��$��%�������)���� �%��%�����"���$� 22222222222222222222222222222222222222222222222222222222222222222222 =A. 
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;2=2-�����������$� �!!�� �%��$��%������#����!���$��8��%��$��%������9�)���� �%��%�����

"���$�� 2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =A- 

;2=2?�
% �%��$��%�������)�����$�:�%�"���$��8� ������%������9 2222222222222222222222222222222222222222222222 =A? 

;2=2A�
% �%��$��%�������)�����$�:�%�"���$��8��%��%(������922222222222222222222222222222222222222222222222222 =A; 

;2=2;�5�*!���$����*#���������� 222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =A; 

;2=2/��%����%��$��%������2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =A/ 

;2-�����!�� 222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =A@ 

;2-2=�
% �%��$��%�������)���� �%��%�����"���$� 22222222222222222222222222222222222222222222222222222222222222222222 =;. 

;2-2-�����������$� �!!�� �%��$��%������#����!���$��8��%��$��%������9�)���� �%��%�����

"���$� 22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =;- 

;2-2?�
% �%��$��%�������)�����$�:�%�"���$��8� ������%������9 2222222222222222222222222222222222222222222222 =;? 

;2-2A�
% �%��$��%�������)�����$�:�%�"���$��8��%��%(������922222222222222222222222222222222222222222222222222 =;; 

;2-2;�
% �%��$��%�������)�����$�:�%�"���$������!��%��$�����$�� ������% 22222222222222222222222 =/= 

;2-2/�5�*!���$����*#���������� 222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =/? 

;2-2B��%�!��� �!�����!�"�$�������"�$�����%��"���*!���$�������22222222222222222222222222222222222222222222222 =/; 

;2-2C��%�� �%��$��%������22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =B= 

;2?���������(�%�1����%2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =B? 

;2A���"�$�% ���"�$����&��$�;2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =B/ 

/2.�
�� �����%��%����% !����%� 2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =BC 

/2=���"�$�% ����"����&��$�/ 22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =CA 
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��(�$��=2=7����&������$���""� �� 22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222? 

��(�$��=2-7�8�* 9�	%���������&������$���""� �,�8�*(9��)���������&������$���""� �� 222222222A 

��(�$��=2?7�8�9���(%��������!�(� �!��!������%��$�%����(%��� �"��!�,�8�9��%��$�����(%��� �"��!�2/ 

��(�$�� =2A7� 8�9� ��(%�����$� ��+�� ����$��!� �%��$� ��  ��&$�����%� !���,� 8�9� ��(%�����$� ��+��

����$��!��%��$�����(%��� �"��!��22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222B 

��(�$��=2;7���$$��!� �$� �$�(��%�2� 2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =. 

��(�$��=2/7���!�%(��"���&��1��!� �$� �����$��!� 2222222222222222222222222222222222222222222222222222222222222222222222222222222222222 == 

��(�$��=2B7���$��%�+�2��!� �$� ����!��"�$���&��1��!� �$� �����$��!��������&�!��������%� 2222222222222222 =- 

��(�$��=2C7����&��������$� ��$��� 222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =; 

��(�$��=2@7��$����!���$� ��$���"���$��������%����222222222222222222222222222222222222222222222222222222222222222222222222222222222 =B 

��(�$��=2=.7���!�$�1����%�+�2��!� �$� ����!�������$��������&�22222222222222222222222222222222222222222222222222222222222 =C 

��(�$��=2==7���$��%�+�2��!� �$� ����!���%�&��1��!� �$� �����$��!��2222222222222222222222222222222222222222222222222222222 =@ 

��(�$��=2=-7���$��%�+�2��*"��!������+��$��"�$�+�$������!� �$��� ��%� �!� �$��� �� 2222222222222222222222 -. 

��(�$��=2=?7����&!��&��1��!� �$� � ��&������ 22222222222222222222222222222222222222222222222222222222222222222222222222222222222222 -= 

��(�$��=2=A7��������&�%�%���2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 -? 

��(�$��=2=;7�������&��1��!� �$� �"���$�������"��$� ����%�2 222222222222222222222222222222222222222222222222222222222222222 -? 

��(�$��=2=/7�������� �����$��!� �$����&����$%�8����%���%���%��% ���9�2 2222222222222222222222222222222222222 -A 

��(�$��=2=B7���������������$� ����%� 22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 -; 

��(�$��=2=C7����&!�����������!���"����������2 222222222222222222222222222222222222222222222222222222222222222222222222222 -; 

��(�$��=2=@���%�"� ��$�%(��"������$���� 22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 -B 
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��(�$��=2-.�����$��6�$����%��22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 -B 

��(�$��=2-=7�5�$%�����%����%��$�%(�222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 -C 

��(�$��=2--7��!� �$������%���!!�)�"���$�����222222222222222222222222222222222222222222222222222222222222222222222222222222222222 -@ 

��(�$��=2-?7���� :�� �����$� 2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 ?= 

��(�$��=2-A7�����%�$�� ������%� 222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 ?- 

��(�$��=2-;7�����$�� ������%� 22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 ?? 

��(�$��=2-/7�5���$&��� ������%�22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 ?A 

��(�$��=2-B7�5��!��%(�5!� :�� ������%� 222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 ?; 

��(�$��=2-C7���� :�����%��$��$��2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 ?/ 

��(�$��=2-@7����$��!� ���&!�"� ����%�� �����$� 222222222222222222222222222222222222222222222222222222222222222222222222222222222 ?/ 

��(�$��=2?.7��!�6��%���%�!�� �����$� 22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 ?B 

��(�$��=2?=7��$�'��% ���% �)�$��� �����$�22222222222222222222222222222222222222222222222222222222222222222222222222222222222222 ?C 

��(�$��-2.7����&!��% ���%���!���� ����$�6��������%����� $����!�������$��2 22222222222222222222222222222222 ;; 

��(�$��-2=7����1��!� �$� �����$��!����$�6�222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 ;/ 

��(�$��-2-7�����$��!����""%�������$�6�"�$����$�(�%�!��������� 22222222222222222222222222222222222222222222222222222222222 ;C 

��(�$��?2.7�8�9�-.�%�����$� :��!���%�,�8�9�C�%�����$� :��!���%�22222222222222222222222222222222222222222222222222222 B. 

��(�$��?2=7�C�������$� :����&��"�% ���%���%���������&!�����&�� "�% ���%��"�$�-.*%�����$� :�

�!���%�2 2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 B= 

��(�$��?2-7�C��%��-.�%�����$� :�%���!����&������$������%22222222222222222222222222222222222222222222222222222222222222222 BA 

��(�$��?2?7�4� ����%����$�6��$�%�"�$�����% 222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 C= 

��(�$��?2A7�#���������$� �!��%��($����%�22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 C; 

��(�$��?2;7�
�($����"�"$������"�$���-.*%�����$� :��!���%���%��C*%�����$� :��!���%�222222222222 C@ 

��(�$��?2/7�������!���$� ���$�� 22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 @. 
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��(�$��?2B7���&�!�(���"���;*�!���%������222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 @= 

��(�$��?2C7�#!���!����""%�������$�6��"���;��!���%������ 222222222222222222222222222222222222222222222222222222222222222222 @- 

��(�$��?2@7��&�$�����&����$%�� 2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =.- 

��(�$��A2=7���� ������2 222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 ==- 

��(�$��A2-7�F66�$���!����%�-.*%�����$� :�&�� ������2 22222222222222222222222222222222222222222222222222222222222222222222222222 ==A 

��(�$��A2?7�G6������$���$�����%�-.*%�����$� :�&�� ������2222222222222222222222222222222222222222222222222222222222222222222 ==A 

��(�$��A2A7���$��(�����%��!�+�$�5���,��9�)����$� ��%(�!�$��!���%��,��9�)�����$�&�1����!��!���%���

�%�� 9�)����&�$�!!�!�($����!���%��222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 ==; 

��(�$��A2;7�����$�����!����%�)����=,-..�C*%�����$� :��!���%��2222222222222222222222222222222222222222222222222222 ==B 

��(�$��A2/7��!���$� ��%(�!�$�&!���2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 ==C 

��(�$��A2B7��!��&���&!�����%��$����%�"�$��&$����$�22222222222222222222222222222222222222222222222222222222222222222222222 =-. 

��(�$��A2C7���% �%�$�����!�����%��� !��&���&!����8-.*%�����$� :92 222222222222222222222222222222222222222222222 =-- 

��(�$��A2@7�����%�$�� ������%�2 222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =-A 

��(�$��A2=.7�����$�� ������%������ 222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =-; 

��(�$��A2==7�5���$&�� �� ������%������2 2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =-B 

��(�$��A2=-7�5���$&�� �� ������%�����2 22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =-B 

��(�$��A2=?7��&&!������$��%��%������!���%�2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =?= 

��(�$��A2=A7��!� �$� �&���%���!��%���%��%(�&$��!��222222222222222222222222222222222222222222222222222222222222222222222222222 =?- 

��(�$��;2=7�����#�����$�,��!!�����%���%���%����2 222222222222222222222222222222222222222222222222222222222222222222222222 =?/ 

��(�$��;2-7�8�9���"!� ���%������$���%���"������%�����,�8�9�!���$��$��%(�!����%�� ������ �22 =?B 

��(�$��;2?7��!��&�����������&�2 22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =?C 
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�"�������������!� �$�����)������/.H� �%�� ���%(!�����)��%������!� �$�����%����������

"���$2 22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =A= 

��(�$��;2;7�#������%��$��%������2 2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =A- 

��(�$��;2/7���%��$��%�������2 2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =A- 

��(�$��;2B7�8�9�����)�����$�%�&�$�%��#����!���$�,�8�9��$�%�&�$�%��<�&��%��%��#����!���$��"�

���� �%��$��%������2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =A? 

��(�$��;2C7���%* �%��%�����"���$�����!2 222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =AA 

��(�$��;2@7������%�#��������222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =A/ 

��(�$��;2=.7�����&�!!�%(��%���#������ ���%��"����������������%��&&!����+�!��(�222222222222222222 =A/ 

��(�$��;2==7��6��%����"���$��%���!� �$����8��"�$�����%�%������� �!�922222222222222222222222222222222222222222 =;. 

��(�$��;2=-7��!� �$� �&���%���!��"��% �%��$��%������222222222222222222222222222222222222222222222222222222222222222222222 =;. 

��(�$��;2=?7����&�������$��%�"��!���%��% �%��$��%������2 2222222222222222222222222222222222222222222222222222222222 =;= 

��(�$��;2=A7��!� �$� �&���%���!���$��(������ �%��$��%������22222222222222222222222222222222222222222222222222222222 =;- 

��(�$��;2=;7���$��%,�I66��%����� �%��$��%����������@..E�!��2 2222222222222222222222222222222222222222222222222222222222 =;? 

��(�$�� ;2=/7� 8�9� �!� �$� � &���%���!� �%� ���� )����  �%��%����� "���$�2� 8�9� ���)�� ���� �!� �$� �

&���%���!��%��%�����)����;�$�%����?.�J��(�&���!�%(�����"���$�!�%(��22222222222222222222222 =;A 

��(�$�� ;2=B7� ���� ����!����� � ������%� ���&!� ���%�,� �����%��� �%� �%�����)������� �%��%�����

"���$�� ���)%� ��� �� &�$ �%��(�� �"� ���&!� ���%�������%��� �%� �%�����)����  �%��%�����

"���$�,�+�2�%����$��"�(�&�2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =;; 

��(�$��;2=C7�����!������""� ���"�%�%* �%��%�����"�!!��&�!�$�1���"���$���%�����+�!��(��&$��� ���

����%������%��$��&&!������"�$�����%2 2222222222222222222222222222222222222222222222222222222222222222222222222222222 =;/ 

��(�$��;2=@7�8�9������%��$��%��&&!������$��%�8�9�����6*�� ���%�%��$�����(�&2 22222222222222222222222222 =;B 
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�$�:�%�"���$2�8�9������%��$��%��&&!������$��%�"�!!��&�!�$�1����!�%(�����"���$�!�%(����%��

=��$�:�%�"���$�)�������$�%�&�$�%���&�6�����$�62 2222222222222222222222222222222222222222222222222222222222222222 =;C 

��(�$��;2-=7� 8�9�����)����-��$�:�%�"���$���%��)������&�!�$�1���$�(��%���������(�&��%��$"� ���

)�������$�%�&�$�%���&�6��8�9�����)����-��$�:�%�"���$���%��)������&�!�$�1���$�(��%����

����(�&��%��$"� ���)���������&�6�222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =;@ 

��(�$��;2--7��&&!�����!� �$� �&���%���!��%�����"�$�����$�� ������%2 22222222222222222222222222222222222222222222 =/= 

��(�$��;2-?7��������&!� ���%��"��!�,���"�$�����%�����$���������%��!� �$� �"��!��� $��������"���$�

�������$22222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =/- 

��(�$��;2-A7�����$���"�$�����%����&!� ���%��+�2�(�&�"���$�&$���% ���!�%(�����"���$�!�%(��2 22 =/? 

��(�$��;2-;7�
��&!� ���%��"��!���"������%���#��������������@..E22222222222222222222222222222222222222222 =/A 

��(�$��;2-/7������%���#�������@..E��!� �$� �&���%���!�"��!�2 222222222222222222222222222222222222222222222222222222 =/A 

��(�$��;2-B7���$��%,�I66��"������%�����2 2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =/; 

��(�$��;2-C7������%���!���!!��2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =// 

��(�$��;2-@7���6�������"!� ���%��"��%������%�������!!��2222222222222222222222222222222222222222222222222222222222 =B. 

��(�$��;2?.7�����&�!!�%(��%�#����K*�� ���%222222222222222222222222222222222222222222222222222222222222222222222222222222222 =B= 

��(�$��;2?=7�
��&!� ���%��"��!���%�������"�$��������22222222222222222222222222222222222222222222222222222222222222222 =B- 

��(�$��;2?-7��""� ���"�%�%* �%��%�����"���$���%����&!� ���%���"�����#����������� ���%2 22 =B? 

��(�$��;2??7��E���"��%�����2 2222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222222 =BA 

��(�$��/2.7���$��!�1��������6��%���%��%�� �%�$� ���%����&!� ���%��+�2�����%����$��"�(�&�2=C? 
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0+  2839.0 2789.0 50.0 
0++ 2832.0 2779.0 53.0 

1 2442.0 2022.1 419.9 
2 (1st broken fiber) 2362.6 1884.8 477.8 
2 (2nd broken fiber) 2358.0 1913.5 444.5 
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